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pull distribution
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Std Dev 1.456 + 0.1692

Underflow

Overflow

X2/ ndf 482815
1 Constant 13.73 £ 3.67
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1D pull distribution

asym_bcm_dg_us (ppb)
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1D pull distribution
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Std Dev 1.47 £0.1709

Underflow 0
Overflow 0
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1D pull distribution

X2 / ndf

diff_bpmE (nm)
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1D pull distribution
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1D pull distribution
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diff_bpm4aY (nm) 1D pull distribution
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1D pull distribution
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asym_usl (ppb) 1D pull distribution

30000 X2 / ndf 4794 / 36 M 0.002982 + 0.1871
lean 3 +0.
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asym_dsl (ppb) 1D pull distribution

Constant 4.021+ 1.362
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asym_atll (ppb) 1D pull distribution
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asym_atl2 (ppb) 1D pull distribution
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